6 -3 BEEOMOO

ROBIE WA &
)

4) y=—2x>+6x>+4x

@)

0 (=0 Y -patb

(2) y=—3x%46x—5 (3) y=x%—522—6

1 5 3

y=-2
(5) y=2x"—4x%+3
8 y=(x+3)°

y=(x—1)(3—2x) 9 y=(2x-3)°

o U/:—6q2+/m tf

14

4_

1
O ] <30"- 104

2

e

[
(6/ g = ’“qu-'f‘ — 3_

/
() = 62’ f

(1) a: gt 451 -3 ) a: 0t G2 2o ¢ 27
(d’:*‘bﬁb’ ‘(]’= 2074 (Pa+=27]
4y §= o’ -3ba" ¢ 54 =T
4> g9’ y2a 124
ROBIEEHAE &,

1) y=(x—2)(x*+1)
) y=(x*—2x+3)’

() a; 13

a,= 700 - A€ (

—

2) y=(2x-1)°
(4) y=(42—3)%2x+3)

L
-21 tA-2

__ = M3
6) y= 2x+4x

2
5

—X

@) = ad - 122”42
JL odq® —24q + b
G) ‘6—_ ¥ 447+ j0a " —122 *?
alé&a"’f 22”402 |2
%) = (lba" - 24223
- 227 - Hta + 2T

I 9ha’ - 54

ROBEIZONT, HZX SN R ERD X,
1) flx)==3x"+2x+4, f(0) 2 flo)=x"—4x+3, f'(1)

( (
v 7[(91): ~ba+a @) )L(1)= 591,2"%

'}‘(0) = 2 "',cl) =3-4 = - |

B e ———
—




6 -3 BEEOMOO

ROEEZ, () AOEERTHOE L, =70, AITIE, ZBHEUANADOXFITER LT
%,
1) y=2t* (¢) 2) S=ar® (v @) V=V(1+8t) (1)
4) s=h4vpt—at® (1) () t=Ha+bx)c—dx) (%
(l
)?{g 4;t ) 5{&9—27‘}'— CQ/(V: VD—fl/OPK
r
f@__ \/ F
= 0
) g T Vb
) 0{9
Va ~2027t
dd Ve 2o
2
5 4+ Fpee F(heo addsz ~kbdx
Ecbe-ad ) —2Lpd
<ME+aDFB>

- Jor-{eo
[
U= JU() Joy ¢ J[ouﬁ p@

ROBEEMHE X,
1) y=x43x-1) @ y=(x—1(x*+2—0) (@) y=(x+2°
@ y=(x*—x+1) 5 y=(x'—20° 6 y=(Br+2%x+1)

(=) 4 (a1 )2t )

t)
( (7 Ta(3a-1) 113 @’7
s A -4+ Pee—22 |

= 612_.11 307

107 9'e 34"
— /
( 2
3) 8/7 3(9(_‘?.9-),* ( “+) a 3-2(%-—1—(—{)%&’(—()
= 3 (1<2) jr__ l[lz_.'x_'-t) ) (2 =\ )

_—___//_\

51§ 9 (37 -22)

(

I -

-—

2
gL 5 a3 (e ) t (32D |

(39(1—2 )

LA (- 2 W 3272 )

B

= [(3eRxt! D+ (37 t2)”

(M“)H(«*' ) t (32 —fﬂ)j
- (gacr)9atd)

t]




